

# Southeastern Louisiana University



# **SLU FACULTY STAFF PROFILE REPORT October 1, 2003**

EMPLOYEE STATUS	Number
Active Employees:	1930
Leave W/Pay Employees	2
Leave No Pay Employees	7
Total	1939

FULL-TIME / PART-TIME	Number
Full-time Employees	1341
Part-time Employees	598
Total	1939

# TOTAL SALARIES BUDGETED FOR FY

Full-time Employees	\$50,134,869
Part-time Employees	\$2,625,883
Total	\$52,760,752

EMPLOYEES BY	Number Employees	Avg Annual Salry	Total Salaries
Full-time Faculty: 12 Month	57	\$79,291	\$4,598,892
Full-time Faculty: 9 Month	464	\$46,905	\$21,764,125
Full-time Librarians: 12	19	\$44,801	\$851,212
Full-time Faculty: 1 Semester	21	\$31,438	\$660,205
Full-time Faculty on LWOP	1	\$43,311	\$43,311
Full-time Faculty on LWP	2	\$51,389	\$102,778
Part-time Faculty: 9 Month	5	\$19,965	\$99,823
Lecturers	211	\$3,145	\$663,506
Librarians: Part-time	0	\$0	\$0
Lab School Teachers	13	\$5,517	\$71,723
Full-time Unclassified Staff	268	\$40,982	\$10,778,233
Full-time Temp Unclassified	3	\$39,971	\$119,914
Full-time Classified Staff	452	\$23,357	\$10,650,765
Full-time Temp Classified	19	\$16,059	\$224,827
Part-time Unclassified Staff	13	\$21,342	\$277,452

Part-time Classified Staff	8	\$8,308	\$66,464
Graduate Assistants	239	\$2,305	\$546,370
Graduate Teacher Scholars	13	\$12,000	\$156,000
Interns	5	\$13,069	\$65,345
Resident Managers	38	\$1,355	\$24,390
Tutor Teachers	4	\$11,154	\$44,616
Community Music School	21	\$10,920	\$218,400
Classified Intermittent	7	\$12,343	\$86,399
Unclassified Intermittent	48	\$0	\$460,408
Adjunct Faculty - Unpaid	3	\$0	\$0
Staff on LWOP	5	\$0	\$0
Total Employees	1939		

#### **EMPLOYEE**

Native/Naturalized	1860
Resident Aliens:	28
Non-Resident Aliens	51
Total	1939

#### **EMPLOYEE GENDER**

Male	7/6
Female	1163
Total	1939

#### **EMPLOYEE MIX**

New employees since 7/1/03	761
Continuing	1178
Total	1939

# EMPLOYEES BY HIGHEST DEGREE

# **FULL-TIME FACULTY:12 MONTH**

Rank	Doctorate	Specialist	Masters	Bachelor	Associate No
Full Professor	21	0	0	0	0
Associate Professor	21	0	1	0	0
<b>Assistant Professor</b>	3	0	1	0	0
Instructor	1	0	3	0	0
Other/No Rank	0	0	3	3	0
Total	46	0	8	3	0

#### **FULL-TIME LIBRARIAN: 12 MONTH**

Rank	<b>Doctorate</b>	Specialist	Masters	Bachelor	Associate No	
Full Professor	0	0	0	0	0	
Associate Professor	0	0	4	0	0	
Assistant Professor	0	0	14	0	0	
Instructor	0	0	0	1	0	
Other/No Rank	0	0	0	0	0	
Total	0	0	18	1	0	

#### **FULL-TIME FACULTY: 9 MONTH**

Rank	<b>Doctorate</b>	Specialist	Masters	Bachelor	Associate No
Full Professor	67	0	3	0	0
Associate Professor	79	1	5	0	0
Assistant Professor	119	0	18	0	0
Instructor	15	2	154	1	0
Other/No Rank	0	0	0	0	0
Total	280	3	180	1	0

# FULL-TIME STAFF: FT UNCLASSIFIED, FT CLASSIFIED, TEMPORY UNCLASSIFIED & (

Rank	<b>Doctorate</b>	<b>Specialist</b>	Masters	<b>Bachelor</b>	Associate No
Full Professor	0	0	0	0	0
Associate Professor	0	0	0	0	0
Assistant Professor	0	0	0	0	0
Instructor	0	0	0	0	0
Other/No Rank	8	1	123	180	23
Total	8	1	123	180	23

#### **EMPLOYEES BY TENURE STATUS**

#### **FULL-TIME FACULTY: 12 MONTH**

Rank	Tenured	Tenure	Non Tenure Trk	Total
Full Professor	21	0	0	21
Associate Professor	22	0	0	22
Assistant Professor	2	2	0	4
Instructor	0	0	4	4
Other/No Rank	0	0	6	6
Total	45	2	10	57

#### **FULL-TIME LIBRARIAN: 12 MONTH**

Rank	Tenured	Tenure	Non Tenure Trk	Total
Full Professor	0	0	0	0
Associate Professor	4	0	0	4
Assistant Professor	4	9	1	14
Instructor	0	0	1	1
Other/No Rank	0	0	0	0
Total	8	9	2	19

# **FULL-TIME FACULTY: 9 MONTH**

Rank	Tenured	Tenure	Non Tenure Trk	Total
Full Professor	65	0	5	70
Associate Professor	79	6	0	85
Assistant Professor	17	104	16	137
Instructor	0	0	172	172
Other/No Rank	0	0	0	0
Total	161	110	193	464

# FULL-TIME STAFF: UNCLASSIFIED AND CLASSIFIED

Rank	Tenured	Tenure	Non Tenure Trk	Total
Full Professor	0	0	0	0
Associate Professor	0	0	0	0
Assistant Professor	0	0	0	0
Instructor	0	0	0	0
Other/No Rank	0	0	742	742
Total	0	0	742	742

#### **EMPLOYEES BY ETHNIC GROUP**

Employee Group	White	Black	Hispanic	API	AI	To
Full-time Faculty: 12 Month	53	1	1	2	0	
Full-time Faculty: 9 Month	419	13	13	19	0	
Full-time Librarians: 12	18	1				
Full-time Faculty: 1 Semester	20	1				
Full-time Faculty on LWOP	1					
Full-time Faculty on LWP	2					
Part-time Faculty: 9 Month	4			1		
Lecturers	202	5	3	1		
Librarians: Part-time	0					
Lab School Teachers	13					
Full-time Unclassified Staff	218	44	2	4		
Full-time Temp Unclassified	1	1	1			
Full-time Classified Staff	332	116		1	3	
Full-time Temp Classified	16	2		1		
Part-time Unclassified Staff	12		1			
Part-time Classified Staff	7	1				
Graduate Assistants	193	23	9	14		
Graduate Teacher Scholars	12	1				
Interns	5					
Resident Managers	23	13	2			
Tutor Teachers	2	2				
Community Music School	20	1				
Classified Intermittent	5	1	1			
Unclassified Intermittent	46	1		1		
Adjunct Faculty - Unpaid	3	0				
Staff on LWOP	4	1				
Total Employees	1631	228	33	44	3	

# **EMPLOYEES BY TOP TEN PARISHES**

Tangipahoa	1181
St. Tammany	226
East Baton Rouge	175
Livingston	164
Jefferson	47
Orleans	26
Washington	24

Ascension	14
St. John the Baptist	9
St. Helena	6

#### EMPLOYEES BY AGE

Age	Group
1150	Group

Age Group	
<= 20:	15
21-25:	204
26-30:	218
31-35:	207
36-40:	191
41-45:	242
46-50:	255
51-55:	265
56-60:	197
61-65:	99
66-70:	27
71-75:	16
>= 76:	3
Total	1939
Average Age:	42

#### **FOOTNOTE**:

1. Report does not include 1,065 student employees hired under the college work study program.

#### Back to the <u>Human Resources Office Main Page</u>

Back to the Main Page

This page is maintained by John Impson

Questions or comments about this page should be directed to jimpson@selu.edu

Copyright 1996-2002 Southeastern Louisiana University
ALL RIGHTS RESERVED
Unofficial and external sites are not endorsed by Southeastern Louisiana University